logAL =log|L2-L1| L=Iluminance

.10

thresholds
0,1ls —10

-2-1 0 1 2 3 4 5 x=logL

1-003130-LO  1-003130-FO0 ME091-20, B4_10




logAL =log|L2-L1| L=Iluminance

i

thresholds
0,1ls —10

-2-1 0 1 2 3 4 5 x=logL

1-013130-LO  1-013130-FO0 ME091-21, B4_10




logAL =log|L2-L1| L=Iluminance

.10

thresholds
0,ls —10

-2-1 0 1 2 3 4 5 x=logL

1-103130-LO  1-103130-FO0 ME091-22, B4_10




logAL =log|L2-L1| L=Iluminance

10

thresholds
0,ls —10

-2-1 0 1 2 3 4 5 x=logL

1-113130-LO0  1-113130-FO0 ME091-23, B4_10




